EARAROBEEIERT — 2 N— IBISH —F 20185F3A10H () 22m{£E4H

KM C2—32# C2 #5%4mkE EEE R
[AE4£] 1% :200,000" ~ 2%&:46,000” ~ 337%&:18,000M”  43%&:10,000”  5&:0H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A8 4 6 | MAER 1:26.1 2-2-2-1 [38.6| — 1 442 | BARBE (£E)
1 4| 7= =N 54.0 (=) g) | (B JP N
R:g=Z/¥LLy b BiE2—-FT170— EARKES
; 4 6 | R 1:26.7 4-3-3-2 | 38.8| — 3 492 |MBE (£H)
oM 6| 775—T717T 56.0 B 2) (@) J P N
L:¥r/0704 B4 xIRFTU— FE RS
P P sUNESS :27. —4-4~ . — HHEE (E8)
N > IR PR - VRS | e %l Yl iam
T HLINEry b BiLIZeS Y- TR
S S 11 | AVASC 1:27.5 5-5-5-4 [39.2| — 5 442 | FABBALE (1£8)
alsl5| EXF—TT vy “1 1 50 (7E) (o) | ) HX
A:Vindication B: X h—3I>FAT> MBS
N . HE A .08, —1-1- . — FHEEAIEE (1£%)
5 3 A4S a954Y> # 6 56.0I_ 1(258)4 1-1-1-3 | 41.0 2 (4_911) i =
RiDIWN—=F v —L B:LT1—T1 FREHS
. > 7 | UTHE 1:28.6 6-66-6 |39.8| — 6 466 | AT (1£R)
611|387 0 B w3y | (B JPNRR
L:70%tx B:Us0O—/XKy 7 HET77—L
® 1—F—@EBIERL
13l=3F= 3,4,2,6,5,1
2a=5F= 3,4,6,2,5,1
S§a=7r= 3,4,6,2,5,1
43—+ — 4,6,3,5,2,1
[ N5
B 4 160 714K 4-6 190M B E 4-6 590 JEE 2-4-6 1,760/
B B 4 130M 2-4 310M B H 4-6 800M 3B 4-6-2 3,020
6 2104 2-6 390

ABICOVWTRDTEEERROODE. TR LIV,




